
Find the missing place value from a 5-digit number
Find the missing numbers
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2,000    + 400 + 50,000 + 20 + 5 = 52,425

5,000 +    10,000    + 100 + 90 + 0 = 15,190

50,000 + 200 + 60 + 1 +    3,000    = 53,261

5,000 + 200 +    80    + 6 + 60,000 = 65,286

40,000 + 0 + 20 +         9        + 3,000 = 43,029

60,000 + 60 + 0  + 8,000 +     900     = 68,960

700 + 0 +  30,000  + 9,000 + 2 = 39,702

80,000 +     100     + 10 + 8,000 + 1 = 88,111

400 + 40 + 6 + 40,000 +    1,000    = 41,446

60,000 +     200    + 0 + 2 = 60,202
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80,000 +       300       + 60 + 1 + 6,000 = 86,361

40,000 + 100 +    8,000    + 60 + 3 = 48,163

4,000 + 900 + 30 + 9 +    10,000    = 14,939

10,000 +      700      + 5,000 + 40 + 4 = 15,744

80,000  + 500 + 20 +       1       + 7,000 = 87,521

6,000 +    80,000    + 200 + 80 + 6 = 86,286

70,000 + 7,000 + 500 +      60     + 2 = 77,562

10,000     + 100 + 1  + 1,000 = 11,101

30,000 +     6,000     + 300 + 40 + 1 = 36,341

50,000 +      600      + 60 + 6 = 50,666
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